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Which of the following is the most subjective
method of educatlonal psychology ?
(1) Observation (2) Extrospection

(3) Experimentation (4) Introspection

Albert Bandura is agsociated with which of
the following ?

(1) Cognitive Developrnent Theory

(2) Behavioural Theory

(3) Psychosexual Development

(4) Social Learning Theory

Plateau in learning curve is caused due to
(1) Fatigue

(2) Motivation

(3) Interest

(4) Maturation

Mirror Drawing Test is used to measure
(1) Creativity

(2) Transfer of learning

(3) Interest

(4) Rate of learning

Cloud Picture Test is used to measure
which of the following ?

(1) Aptitude (2) Personality
(3) Interest (4) Intelligence

Five years old Mohan has mental age of
eight. What is his 1.Q. ?

(1)- 140 (2) 160
(3) 135 (4) 150

Which 1.Q. range is called trainable IQ
level of mentally retarded children ?

(1) 36 - 49

(2) S0-69
(3) 35 and below
(4y 70-79
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Rorschach ink blot ter SUTe

which of the foHomr:,{ 4

yused to meas

(1} Interest (2) Intelligence

(3) Aptitude (4) Personality

It is not the cause of forgetting
(1) Mental conflict
(2) Desire to remember

(3) Defective methods of remembering

(4) Under learning

The science which deals with the method
of collecting, classifying, presenting,
comparing and interpreting numerical data
is called

(1) Geometry

(2) Mathematics

(3) Probability

(4) Statistics

Find the odd one out.
(I) Raven’s test

(2) 16-P.F.

(3) Draw a man test

(4) TAT.

The median of 7, 8, 9, 10, 11, 12 is
(1) 10 (2) ©

(3) 9.5 (4) 8

Who has propounded the theory of
insight ?

(1) Hegarty

(2) Gestalt Psychologist

(3) Skinner :

(4) Thorndike

According to McDougal! every xnstmct is
associated with
(1) Sensation
{(3) Thinking

(2 Emotion
(4) Cognition

Giving meaning to sensation on the basis
of past experience is called

(1) Motivation
(3) Imagination

(2) Perception
(4) Sensation
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Who has given the Concept of Educational
Quotient for backward children ?
(1) Burton Hall

(2) Schonell
(3) Cyril Burt
(4) Gorden

Which among the following is different from
characteristics of a good test ?

(1) Objectivity (2) Validity
(3) Aptitude (4) Reliability

Which of the following is not theory of
intelligence ?

(1) Theory of regression

(2) Two factor theory

(3) Multifactor theory

(4) Unifactor theory

Which one of the following is not ductless
glands ?

(1) Salivary glands

(2) Pituitary glands

(3) Thyroid glands

(4) Adrenal glands

According to Piaget the second stage of
cognitive development is

(1) Pre-operational stage

(2) Formal operations stage

(3) Concrete operations stage

(4) Sensory-motor stage

The main characteristic of basic instinct is
that which is found

(1) All organism and it is inborn and natural
(2) Only in Cats and Rats

(3) Only in Artists

(4) Only in human beings

The right to free and compulsory education
for children between age group of 6 — 14 has
been included in Indian Constitution as
(1) Article 45

(2) Article 15

(3) Article 21A

(4) Article 26
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Kretschmer has classified the persons in
one of the following main types
(1) Picnic (2) Athletic
(3) All of these (4) Asthenic
Purpose of T.E.T. is measure which of the
following ?
(1) Attitude (2) Aptitude
(3) Values (4) Intelligence
Consolidation theory explain which of the
following ?
(1) Motivation (2) Memory
(3) Creativity (4) Learning
What is the factor influencing physical
development in the following ?
(1) Sports and exercise
(2) Environment
(3) All of these
(4) Heredity
Which of the following is correct formula
to calculate 1.Q. ?
(1) L x100
M.A.
C.A.
(@) —
M.A.
M.A.
B =
C.A.x100
M.
@ XA 100
C.A. ;
Who described ‘Reflective Thmklng from' -

the following ?
(1) Woodworth
(3) Drever -

Which is not included in the levelé of

(2) Ross
. (4} Dewey

inductive reasoning ?

(1) Generalization

(2) Experiment

(3) Imagination .
(4) Observation =

Fallure in retentlon and recall of learnt: b

content is . g

' (2) /"Merhory L
(4) Forgettmg

’(1) Retentxon ;
_(3) ’I‘hmkmg

[PTO S




31.

32.

33.

34.

35.

36.

37.

38.

39.

W - II / PART - II
9T - I : 7=t / Language - I : HINDI

Y B mH-mrEarg R ?

(1) =Hug 2) fim
(3) =gz 4) ==
FEANTETE 81 74T 8
(1) Egad =35 =t

(2) gERwE faet
(3) STETYTUr i
(4) @ET™o S

T AN HTE AflE & 3R g |
ferrer a2t e & v et @ 1)
1 dfFaai ¥ yged @ R
(1) “aHs @

(3) HEU™

(2) fRwW™
4) =@

T oty ey 1 4 o o 3 e s B & 7

(1) TEH (2) =d

(3) = (4) @l

IEH TR oIeH fRaEr’ - s | e
Frerifera & 4 form foman =1 SeReoT 2 ?

(1) feerddss feram (2) Sromefss T
(3) Eeifers fohan  (4) wige foman
Tl gl 1 et 7

(1) TS (2) "I

(3) A (4) =i

e i e’ & TR S R ?

(1) T ©aH (2) TR e

(3) 3w et (4) FT Hrerdt

Y IS Tk G o TR ol 19 8

(1) STeTgH=< T (2) STeTHT A

(3) WW@R QUi firg (4) wEdEREY Sad
Tt qerd e o e arvr & forg e w
BT 7

(1) TR (2) ot ETe

(3) "PmERREF g (4) <WERY UR

‘ Paper - 2/B

40.

41.

42.

43.

44,

45.

46.

47'

‘AT S AT ©
(1) Feoreg e

(3) g<AH
FEA-T I S B 7
(1) Tiferdl = el ST SATETEF © |

(2) ORI T W= 3 ) B S < |
(3) il W e Fh W R

(4) Tdl§ de-or 9T 37 AT |

faefi A wm-H w2 ?

(2) ¥ T
(4) A9 T

(1) TuaEr @) faaf

(3) T aRY (4) < a=

‘T’ = i wee §

(1) == (2) fafea

(B) FHAFRAN - (4) N

‘Tre famre” @t ardf @

(1) TR TSl hl JAAT-IAT Fh T Tra
Ecicill

(2) ST &R |

(3) & 3 T Fam |

(4) ISET ! SreT |

forg o =1 A forg =

= forg =f =Rt farfy =

3 Ufaadl ¥ WEd STeien ?

(1) Efd esR

(2) faemifEd s

(3) T=T= ITHR

(4) TawmET sesR
frferRea & arem fueror 6 fify 7 2

(1) =arem fafy (2) ereafy iy
@) wawefaf  (4) bl
frefelen # srfigerems sgwm 2

(1) S g

(2) wIfE 1 AT w@ T

(3) T IR e A iy

(4) v fommd 9 el = sifvsasg wan




el

e M GRS

¥

48,

49,

50.

51.
52,
53.

54.

55.

fortan ot e’ fve Ry 7
(1) T g v

(2) Ffa FaR Tl

(3) X ami

(4) s arsmed fads
‘Terel sy | W

&= =fs an e i A T

S S0 U G Tod IR T qE’

- fraeh dfa & 7

(1) 3 =R (2) e
(3) TaET (4) HewETs
el F Uge TA B .
(1) =ARE @R

(2) st fofiremms

(3) g AT

(4) 354 ATAUS

T W A FI TR

(1) @ (2 "

(3) w (4) gssu
‘e’ & fodim 2

(1) SrEm= (2) TEm=
(3) GHimA (4) w€A
‘e’ reg 1 TG §

(1) &Y (2) B

(3) s (4) A
‘et arerfe et gra €1 AT (3@)" - T
o1 weh wreg wraTed |

(1) il (2) onfindifaes
(3) TeHETET (4) anfirefae

e =t g gt w el R

(1) ez =afqq & gee |

(2) =R & fyvert ¢ ford S wehd |
(3) fereft <t g foreft g =1 &A1
(4) T Sifaw | e |

Paper -2/B

Pl oo 91w TgE S 16 56 § 60 T
w1 ) fawey gaa I it |
y QTE Y % W A e ot s R &) =, IR

= srfdwar ok 77 ) b @ vt @ | 7 ¥ wes qh
3 G ST T 5 - W T T gt o v 3

| i e & | w9 AT A R e A v w R |

% ofe Iqe TF Ta! g, A F6 AT ) HH AHE HH
o QTe AT R, T SEE! /A g § w1 T 8, @ @
R Fiftea & T ok se= =fe gon & a9rg @ s |
TafeTT a8 wga ST & % e R = wr v
¥, TR s O, wewe SR STE1 SR | §) WA A R
-7 A gL W} o R F e A4S WM R,
it R 9 378 fFT 39§ o7 F9g W W W
I =1 Fata e | e sied d g o s R 13 @
TR § 3= et § R FAR H 7 am R § foran S
1 N A el e I Sl W T8 od, § §En A
T B B ofR FF T S g F ¢ |

56. U UIeH W A U1 STEA ATl Nghedl Se-w 8 7
(1) o= it it |
(2) ©dH IR AR |
(3) R & FA |
(4) FHNR T, @ W Fid T 9 qw 9=
TG &1 8 |
57. TERF T9-98 @Ml 4G9 S AT R
(1) TYHR Sl
(2) TEERH
(3) T T H
(4) ImafaH
58. ‘Tafear wse # Iuwt ok weww 1 et fawwa R
(1) R+ se@ + am
2) fr+s@+a
(3) T+ et + o

(4) Bgeae+m
59. ‘&R & WaaTEs 6y v
(1) (2) FTRIE
(3) HrEE (4) STHTET
60, "3 waeid e aren’ F e sa s wny e
(1) w@refuee (2) wiEar
(3) FRw (4) @i
[P.T.O. |




WAl - 111 / PART - III
WTET - II : 30 / Language — II : ENGLISH

61. Choose the correct sentence.
{1) The committee was divided on this
point.
(2} The committee was one on this point.

(3) The committee have one on this
point.

{3} The committee were one on this point.

62. Which of the following is an example of

Simile ?

(1) Anxiety is sitting on her face

(2) Life is a dream

{3) Alie has no legs

(¢) Iwandered lonely as a cloud

63. Change the following sentence into Active

Voice.

“The visitors were shown the new-born by

the woman.”

(1) The woman showed the visitors the
new-born.

(2) The woman has shown the new-born
to the visitors.

(3) The woman might have shown the
new-born.

(4) The new-born was shown to the visitors
by the woman.

64. Select the antonym for the word.
‘Adverse’
(1) Inimical
(2) Friendly
{3) Unwilling
{4) Hostile

65. Fill in the blank with correct word to
complete the proverb.
“Blood is
(1) Purer
{2) Thicker
(3) Precious
(4} Thinner

than water.”

Paper - 2/B

66.

67.

68.

69.

70.

- Pick out the correct synonym of the word.

Give one word substitution for : .
The scientific study of insects.
(1) Mycology (2) Entor‘nology
(3) Meteorology (4) Criminology

Point out the correct direct speech of t

following. s

I asked why he was looking through th‘g

keyhole.

(1) "Why are you looking through the
keyhole ?’I said.

(2) ‘Do not look through the keyhole’ I
said. ,

(3) You are looking through the keyhole ?”
I said.

(4) ‘Are you looking through the keyhole ?’
I said.

Put the verbs in brackets into the correct
present tense.

My daughter never (write) to me so I never

(know) what she (do).

(1) My daughter never writes to me so I
never know what she is doing.

(2) My daughter never write to me so I
never knew what she does.

(3) My daughter never writes to me so I
never knew what she does.

(4) My daughter never wrote to me so |
never knew what she do.

‘Cantankerous’
(1) Noisy

(2) Quarrelsome
(3) Disrespectful
(4) Rash

Pick out the sentence that has a

demonstrative adjective in it.

(1) Each of them received ten rupees.

(2) This kind of question is often asked in
examinations.

(3) His written statement differs from his
oral one.

(4) Itis a twenty-kilometers walk.
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» swer the questions
that follow (Q. No. 71 to 75) by selecting the
most appropriate option,

Helicopters are very different from airplanes,
They can do three things that airplanes cannot
do. First, when airplanes move upward, they
must also move forward, but helicopters can
move straight up without moving ahead. Second,
helicopters can fly backward, which airplanes
cannotdo. Third, helicopters can use their rotors
to hover in the air, which is impossible for planes.
Helicopters can perform actions that airplanes
cannot, they are used for different tasks. Since
helicopters can take off without moving forward,
they do not need a runway for take off. They are
used in congested areas where there is no room
for airplanes or in isolated areas, which do not
have airports. Because they can hover, they are
used on fire fighting missions to drop water on
fires. They are used in logging operations to lift
trees out of forests. Helicopters are used as air
ambulances to airlift patients out of situations,
which are difficult to reach, by conventional
ambulances. The police use helicopters to follow
suspects on the ground or to search for cars on
the ground. Of course, helicopters have military
uses because of their design and capabilities.

71. The word ‘congested’ in the passage
means
(1) The place can be accessed by police vans
(2) The place has no place

(3) The place has so much of smoke due
to fire

(4) The place is roomy

72. A helicopter can hover while an aeroplane
cannot, according to the passage. ‘Hover’
in the passage means
(1) Go backward in the air
(2) Move straight up in the air
(3) Fly sideways
(4) Stay at one place in the air

73. Point out the grammatical category of the
word ‘perform’ in the passage.
(1) Adverb
(2) Verb
(3) Helping verb
(4) Noun

Paper - 2/B

74,
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78.

79.

80.

Why is a helicopter used as an ambulance ?

(1) It reaches the inaccessible places
easily

(2) It crosses all difficulties of traffic
(3) It can fire fight

(4) Its movement can be manoeuvred
easily

Point out the grammatical category of the
underlined word ‘very’ in the above passage.
(1) Noun (2) Adjective

(3) Verb (4) Adverb

Bees are kept in

(1) An apiary (2) A nursery
(3) An aquarium (4) A pantry

The idiom ‘green-eyed monster’ means
(1) To be angry

(2) To be sick

(8) To be blind

(4) To be jealous

Select the sentence in which the article has
been wrongly used.

(1) A pupil should obey his teacher.
(2) Twelve inches make a foot.

(3) He is a European.

(4) Heis a M.A.

Pick the correct question tag from the
options.

People shouldn’t drink and drive,

(1) isn'tit?

(2) should not they ?

(3) shall they ?

(4) should they ?

Point out the part that has an error in the
sentence.

You are learning English/for the last one

A B
year/but you show/no improvement at all.
C D
(i) @ (2) B
(3) D (4) A

[ B{T:0.
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81, ‘To chew the cud’ correctly means
(1) To meditate
(2) To die on duty
(3) To inculcate virtues
(4) Contrive against someone

82, Complete the following sentence with most
appropriate choice.
He was very much ashamed his
mischief.’
(1) with
(2) of
(38) over
(4) for

83. Complete the following sentence with
appropriate choice.
¢ he stood first, he would have
gone to America.’
(1) Have
(8) Anyways

(2) Had
@) If

84. Fill in the blank.
‘Of the sword and pen the is
more powerful.’

(1) latter
(2) later

(3) last

(4) last one

85. Which prefix can be used with the following

words ?
behave, guide, use
(1) mis
(2) dis
(8) re
(4) in

Read the following passage and answer the
questions from 86 to 90 based on it.

Work expands so as to fill the time available
for its completion. The general recognition of this
fact is shown in the proverbial phrase, It is the
busiest man who has time to spare.’ Thus, an
elderly lady at leisure can spend the entire day
writing a postcard to her niece. An hour will be
spent in finding the postcard, another hunting
for spectacles, half an hour to search for the

Paper - 2/B

exh
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86.

87.

88.

89.

90.

10

address, an hour and
and twenty minutes in
to take an umbrella W
in the street. The tota
a busy man for t
this fashion leave

a quarter in composition
deciding whcthe'r or not
hen going to the pillar box
| effort that would oceupy
hree minutes, all told, may in
another person completely
austed after a day of doubt, anxiety and
What is the total time gpent by the elderly
Jady in writing a postcar
(1) Four hours and five
(2) A full day
(3) Half an hour
(4) Three minutes

minutes

What happens when the time to be spent
on some work increases ?

(1) The work consumes all the time

(2) The work is done leisurely

(3) The work needs additional time

(4) The work is done smoothly

What does the expression ‘pillar box’ stand
for ?

(1) Box office

(2) A box in the pillar

(3) A pillar-type post box

(4) A box attached to the pillar

Who is the person likely to take more time
to do work ?
(1) A man of leisure
(2) An elderly person
(3) An exhausted person
(4) A busy man

Point out the most appropriate
ex
of the sentence. 3 planation

‘Work expands so as to fill the time ¢ ble o]
for its completion.’ sy
1 '
(1) gg:l? have more time, you can do more
(2) Whatever time is available it
e for ve
amount of work, all of it wil] bea 1.%;;:1?
(3) If you have some important work to
do, you should always have some
additional time, e
(4) The more work there is t ’
ob ).
more the time needed. 2 giogg !
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(2) fRIfw
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The source of oxygen liberated as bypw
during photosynthesis is ~

(1)
(2)
@)
(4)

Glucose

Water
Chlorophyll
Carbon dioxide

The component of blood that prevents its A
clotting in intact blood vessels is
(1)
(2)
(3)
(4)

Thrombin
Heparin
Haemoglobin
Antibody

Islets of Langerhans are present in
(1) Pancreas

(2) Liver

(3) Heart

(4) Stomach

Enzymes are chemically
(1) Carbohydrate

(2) Acid

(3) Protein

(4) Lipid

Which of the following acid is also a vitamin ?
(1) Malic acid

(2) Ascorbic acid

(38) Palmitic acid

(4) Formic acid

Which of the following is not a constituent
of petroleum ?

(1) (2) Coke
(3) Lubricating oil (4) Petrol

Paraffin wax

A metal ‘M’ does not liberate hydrogen from
acids, but reacts with oxygen to give a black
colour product. Identify ‘M’.

(1) Cu (2) Mg

(3) Ca (4) Na
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Frefefaa § @ farad gongati i den siftrsan
Brfi

(1) CH,%16¢ (2) CO,%16¢g

(3) O,%16¢g (4) N,%16¢g
Ul afit wfafeefl & wamamen o w98 @ fress
g fasfea fFn srar & 7

(1) 2= Afirwds

(2) KMnOJOS/HQO

(3) Wefam foemm

(4) Br,/H,0

f& ma Dt 1 F forg s 1 arfadem 6
SRy §EI +2 B 7
(1) NaO,

(3) NaO,

(2) Na,0
(4) OF,
10 Hiet T o S qi § 20 gefied aa1 20
fatem 3 | a0 = aue @
(1) 75 @i (2)
(3) 100 @l (4)

50 Tt
25 i

afe Ot YT FT F T AT ATE FAT: %mn %

21, 1 1 % F198] whis 1 AqEdi Bl 8

(2)

Hlw Win

(4)

e At § “od arn’’ o e gar e ?

(1) e (2) B
(3) @He (4) =
T ) g e fers e B w7
(1), swm (2) Ham
(3) o (4) @i

ATl Fa (1101), % God S9IHerd Je w1 8

(1) 13 (2) 11
(3) 15 (4) 9

9T e @1 FEEdl £ 7

(1) #fpeat (2) fodimeat
(3) wiheat (4) e
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Which of the following has maximum
number of atoms ?

(1) 16 gof CH,
(3) 16gof0O,

(2) 16 g'of o,
(4) <16 g of ) G

In laboratory, ethylene and acetylene can
be distinguished by
(1) Tollen’s reagent

]
(2) KMnO,/OH/H,0
(3) Fehling solution
(4) Br,/H,O
In which of the given compound oxidation
number of oxygen is +2 ?
(1) NaO, (2) Na,0
(3) NaO, (4) OF,
Sound waves consist of 20 com;ﬁreséibns

and 20 rare in 10 meter length. The
wavelength of wayve is -

(1) 75 cm (2) 50cm
(3) 100 cm (4) 25cm
If % and —g— be respectively the absolute

refractive index of water and glass, then the
refractive index of glass relative to water is

(1) (2)
(3)

DlLww|d
O o |©

(4)

In Household wiring, what is the colour of
“Earth wire” ?

(1) Black (2) Green

(3) White (4) Red

Kirchhoff’s current law based on conservation of
(1) Charge (2) Momentum

(3) Mass (4) Energy

The decimal number equivalent of binary
number (1101), is

(1) 13 (2) 11
(3) 15 (4) 9

What is silk farming ?

(1) Sericulture (2) Pisciculture
(3) Agriculture (4) Epiculture
[ P.T.O.
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All organlsms belonging to Kingg
Protista are

(1) Multicellular and proka
(2) Unleellular and prokary ‘v
(3) Multleellular and eukaryotic
(4) Unicellular and eukaryo

Which of the following plgment is g
with the germination of seeds
(1) Chlorophyll

(2) Plastocyanin

(3) Xanthophyll

(4) Phytochrome

The tissue that connects one bonc with;zm
other bone is called '
(1) Epithelium

(2) Cartilage

(3) Ligaments

(4) Adipose tissue

Viviparous germination of seeds occur in
(1) Potato

(2) Rhizophora

(3) Sugarcane

(4) Mango .

SI unit of heat is
(1) Calorie
(3) Watt

(2) Erg
(4) Joule

If P, F and A represent pressure, force and
area rcepcctivcly, then

1 -F ik
(1) A (2)
A (4) A

If the momentum of body increnses from

10 unlt to 25 unit In § sec, then working
force acting on |t ls

(1) 3 unit
(2) 2 unit
(3) 4 unit
(4) 1 unit
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Mica is e
Good conductory of ik heat

(1}

4—:1;.‘( ‘v;( lf/‘

{2y Bad mnf‘w ’ﬂr of heat Hut good
conductor of eleciricity - '

(3} Bad rrmriw? of bt heat and
l-j! ( 3¢ )?}

(4; Good conductor of he st byt bed

conductor of electricity

Angle of dip 2t m
;1, 90" 9'21 45
) 1’)’« !4; ¥ o

The monomer of naturzl mbrm ms

wtic pole of earth is

(1) Terylene R ,,
(2) Isoprene SRR e ke
(3) Orion

Which compound has h.gmm m”
(1) MNeopentane
(2) lsopentzne ron S
(3} Isobutzne o

(4} n-pentzne

The number of ,.—e,cctcns z" mfjﬂ»ww a‘.’
aromatic compound is ;

(1) 4n+2
(2} 4n+1
(3} 2n+4
(4} 4n

Rutherford’s alphz (o) partcies scanenng

& erlo gt % < s ok
nt resulted into discovery of

experime
{1
(2) Yucleus in the atom
(3}

[4)

Electron

. <
o T—
ALOInC TNass

Proton

Which one of the following s

heterouenois

fi) Smoke

(2] Milk

{3} Jelly
A

{4}

N
=

@




e el

121.
122,

123.
124.
125.

126.

127.

128.

129.

@uﬁmmﬁﬁfﬁ?ﬁaﬁtgﬁm?ﬁmaﬂ
1 T 3 ; 2 o | 20 3 GEH & A H I
oz m | ferdt i de frae ot ?

(1) 16 (2) 40

(3) 24 (4) 36

i sre s wenai a, b, ¢ & fae af
a b E=28—3b+50 ﬁ,FﬁKEh'IT{F{%
2 3 4 K

(1) 20 (2) 15

(3) 25 (4) 10

R A BFE A wg=a A, FA-B=AT,
TWANBR

(1) B (2) A

(3) AuB 4 ¢

I THIET X2 — bx + ¢ = 0 & qd & FHATTA
qUrieh & |, @ b2 - 4¢ &

(1) O (2) -1

(3) 2 (@) 1

31 TRl 1 H.9. N .9, HAW: 13 3R 1989
3, I T e 117 7, g e

(1) 223 (2} 221

(3) 225 (4) 222

T a0 § Jefoi Y HEdm 40 B | IS qeH
10 &0t T HIEA 4.5 TAT 9 I WA 3.5 W, AR

GE0] T T1ET B
(1) 3.75 (2) 3.80
(3) 4.25 (4) 2.82

14 THY I G161 Teh 316 O Y SATUhad 3Tad &l
T T A SEd SIS STl § | 56 Sl S argut

73 8
(1) 2464 Tt (2) 1134 [
(3) 616 T (4) 924 qHe

50 TEand € T8 € | U HEH i 53 § § Hen
ST 8 3 T Seadl e 3.5 2 | @)
eI & W B
(1) 46.5
(3) 56.5

(2) 53.5
(4) 49.5

@9 5, 9, 14, 15, x + 1, 2x - 13, 26,
30, 32, 34 &I STRE 0 1 sxaferd fr ST |
79 SATRE] 1 ATAS 24 B | x 1 0H @

(1)::21 (2) 19

(3) 16 (4) 20
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In a religious gathering the ratiggf .,
of ladies to thgt of gents wegs@:{g;é}ﬁé?}b’;é
more gents joined, the ratio Wag reverged
The number of ladies was -, 77 %;
(1). 16 (2}  40Lw
(3) 24 {4) 36 %

For three non-zero real numbers a, b, ¢ if

a_b_c_2a-3b+5C theranieofKis
2 3 4 K ;
(1) 20 {2) 15
(3) 25 (4) 10

If A and B be any two sets such that A-B =4,
then AN Bis

(1) B 2) A

(3) AuB 4) ¢

If the roots of the equation X2 ~bx + ¢ = 0 are
two consecutive integers, then b? —4c is

(1) 0 (2) -1

3) 2 (4) 1

The HCF and LCM of two numbers is 13
and 1989 respectively. If one of the number
is 117, then the other number is

(1) 223 (2) 221

(3) 225 (4) 222

The number of observations in a survey is
40. If the mean of first 10 observations is
4.5 and that of remaining is 3.5, then the
mean of whole survey is

(1) 3.75 (2) 3.80

(3) 4.25 (4) 2.82

A right circular cylinder of maximum
volume is cut from a solid cube of edge 14 cm.
The total surface of cylinder is

(1) 2464 cm?® (2) 1134 cm?

(3) 616 cm?® (4) 924 cm®

There are 50 numbers. Each number is
subtracted from 53 and the mean of the
numbers so obtained is -3.5. The mean of
the given numbers is ;‘
(1) 46.5 (2)
(3) 56.5

53.5 |
(4) 49.5 4

Ten observations 5, 9, 14, 15, x+ 1, 2x - 13, |
26, 30, 32, 34 are written in an ascending
order. The median of the data is 24. Find |
the value of x.

(1) 21 (2) 19

(3) 16 4) 20
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(1) 4200

(3) 4000

132.

133.

L 134,

(2) 4430

(4) 4420

Sy ER-m AT

(1) e =1 o ferm +ft st 1 o vel
T Tl ® |
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(2) Fae HiET @R I 8 T
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(4) foentefat o gl ferer st i el

| 136.

(2)

(3)
(4)

k. 137.
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44 cows can graze a field in W0 days How'
many less/more cows will graze the same
field in 12 days ? : 5

(1) 11 cows less
(3) 15 cows less

11 cowq mom i
15 cows more 1

-
@

Ifa,a+2,a+ 4 are pnme numbers then

the number of values of ‘a’ are. R e R
(1) Three 2) Two R
(3) More than three (4) One | ¢ Ty e

Find the biggest 4 dxglt number whlch 1& a ;

perfect square 3 :

(1) 9000 ! (2) 1899

(3) 9801 (4) 9999

When x'3 + 1 is dlvxde : Hbyx 1 then whatf :
is the remainder ?° ' ,
(1) 2 (2) A%

(3) -1° Ay 0

If A and B are non-empty subsets of aset C, .
then A U (A N B) is equal to

(1) A (2) AUB
3) B 4) AnB

The population of a village increases by
5% yearly. If at present the population
of the village is 4410, then what was the
population before 2 years ?

(1) 4200 (2) 4430

(3) 4000 (4) 4420

Which of the following statement is true ?
(1) Congruence of triangles can be learnt
without learning algebra.

Equations can be learnt without
learning arithmetic.

Statistics can be learnt without
learning algebra.

Different branches of mathematics viz.
Algebra, Geometry etc. are dependent
on each other.

(2)
(3)

(4)

Which among the following is the best

pedagogical way to teach mathematics ?

(1) Find the gaps and address only them

(2) Find the weakness and teach only
those parts

(3) Teach every student with the same

approach

Motivate the learners to develop their

existing capabilities

(4)

[P.T.O.
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140. forell wiar =1 mitven s e fi & argeme Y |

afe fan o A W e w1 9w % 4,000 2, @@
TiEr & $& 31 frat @t 2

(1) ¥ 60,000
(2) ¥ 40,000
(3) 30,000
(4) 50,000

141, Sifqe T g 1 38% T ¥ 10% W W Ged
 37R 39F T A 10% A W A=@1 2 | 35
SIEES

(1) 222

25% @ 227 5%
FHABITE  (4) 20%

142, A @l 2 - px + 54 = 0% @ 2: 3%
AU AE, A p H AR
(1) -21 (2): 21
(3) 15 4) 18

143. 3 o gt gl hl Sl B ST 25 ¢ 64
AT 39k AT T IIUT 4 : 5] | 9 374}

T ST 2
(1) 5:8 (2) 1:4
(@), 142 4) 1:3
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If A’s salary 1s 25% more than
then how much percent is Bs sal

than that of A ?
1) 20% .
f3; 15% (4) 25%

ftwo natural numbers is 8. Det e
Shuelz(l)lmbcrs if the sum of their fEClproml

is — .

e (2) 4,4
2,6 »
fé; 3,5 4 1,7

The expenditure of a family in a month%
is given in figure. If the difference o

expenditure between education and travg
is T 4,000; what will be the total income o

the family ?

Rent
Education Houzsg%

25%

Savings
20%

(1) % 60,000
(2) 40,000
(3) ¥ 30,000
(4) 50,000

Jatin buys an article for 10% less than its
value and sells it for 10% more than its
value, his gain is

(1) 22%% 2) 22%%
(3) None of these (4) 20%

If the roots of the equation x?-px + 54 =0
are in the ratio 2 : 3, then the value of p is
(1) -21 (2) 21
(3) 15 (4) 18

Ratio of the heights of two right circular
cones is 25 : 64 and ratio of their diameters
is 4 : 5. The ratio of their volumes is

(1) 5:8 2) 1:4

B) 1:2 4) 1:3
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(1) 3 (2) 2

(3) 4 4) 1

U wrEg e & famol 10 §ft @ 24 A §, g
a8

(1) 68 (2) 34k
(3) 52 @ (4) 120 At
T& ! 25 T T 6 Goft vt wer & R

Tl 1 T et R | afe w e e
T 100 T |, O HRE g S R et
i g I1a HiR

(1) 30000 TR (2) 25000 T

(3) 15000 IRK (4) 20000 W

are1 i 52 Teh 3 TE A Tk T s A e s
I TREm R R MR W R 7

8 6"
(1) 13 (2) 13
2 A
(3) : 4 13

ﬁaﬁABCD@aﬁwa@jﬁ%]aﬁaﬁagﬂ
(x, )@

A }“B
2> ni
4y+20° ‘ﬂk?;
cR =45
(1) (15° 359 (2) (10° 15°%)
(3) (40°, 35°) (4) (15°, 257
x ¥ g w3 ferg et arfengf o agerR 27 8 7
05, 26, 27, 23, 27, 26, 24, X, 27, 26, 25, 25
(1) 25 (2) 24
(3) 26 (4) 27

Y x=2,y= 1,zw—3€t,ﬁ“7x3+y3+z°—3xyz

T B
(1) 8

(2) 2
(3) 0 4) 6
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If A={x:xis aletter in word BELOW}
B = {x: x1s aletter in word WOOL} and

g ;u A - B, then the number of subsets of
8 .5 i :
(1) 3 (@) 275

(3) 4 4) 1

The perimeter of a rhombﬁé":whdse'
diagonals are 10 cm and 24 emis -
(1) 68cm (). 34em o
(3) 52cm (4): A20emy o Foh s o

A company makes an advertisement to
collect a capital of Rs. 25 lacs of shares. If
the printed price of one share is Rs, 100,
then find the number of shares circulated = -
by the company A A SRR

(1) 30000 shares (2) 25000 shares

(3) 15000 shares (4) 20000 shares

From a pack of 52 playing cards one card
is drawn at random. What is the probability
that the card is a spade oran ace ?

8 6
1) 13 @ 3
2 7.5,
(3) = (4) 13

In figure ABCD is a cyclic quadrilateral,
then the ordered pair (%, y) is

A B

L/ S

N
9 4x

ot - .8

"
S 7

c

(1) (15°, 359
(3) (40°, 35°)

For what value of x the mode of the following
data is 27 ?

25, 26, 27, 23, 27, 26, 24, x, 27, 26, 25, 25
(1) ‘28 (2) 24

(3) 26 (4) 27

Ifx=2,y=1,z=-3, thenx®+y*+2°~3xyz
equals ‘
(1) 8
3) O

(2) (10° 15°%
(4) (15°, 25°)

(2) 2
(4) 6

(P.T.0.
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91, M-T-Tard ) v R < 7
(1) T
(2) g
(3) e Gl
(4) TEHE TSIl
92, T T foRdeh T whTet T WIRa ST o 7
(1) waedq
(2) === fasmiesr
(3) =<
(4) =T
93, ﬁm%ﬁaamwﬁﬁﬁ%@‘m’mm%?
(1) @ ¥4
(3) WIESTat (4) «TR
94. TS & fATTSE W ST T S o1
(1) ffx (2) Fm
(3) 4 (4) =N
95. FHat fiw forg U & wdfien & 7
(1) &y (2) SPTERTER
(3) forg (4) ST
96. AU foeiaar &7 o7k @
(1) =gt F=TE & wy fRr argsy
(2) Gl TS WY TS AR
(3) edl F=s & WY JFOR quwy
(4) Fgdt S92 F Wy g a9Ey
97. F=fafes semmE! § § 9 e v 3
T 8 ?
(1) ey
(2) T Teay yq R
(3) = wmm
(4) el EAR
98, firoeht o gfirg wefdrr 5 @
(1) Tfery
(2) IYUEUE
(3) feurrer wew =
(4) TP U T
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DIES/OTHER SUBJECTS

Who is the founder of Din-i-llah 5
(1) Akbar

(2) Humayun :

(3) Shershah Suri

(4) Muhammad Gajanavi

In whose reign did Hsuan-tsang come to
India ?

(1) Harshavardhan ' ;
(2) Chandragupta Vikramaditya
(3) Skandgupta

(4) Samudragupta

Who among the following emperors was
called ‘Qalandar’ ?

(1) Akbar (2) Humayun

(3) Shahjahan (4) Babur

The Governor General, who partitioned
Bengal was
(1) Minto (2)

Canning
(3) Mayo

(4) Curzon

Kunwar Singh was the Zamindar of which
State ?

(1) Avadh (2)

Jagdishpur
(38) Bitthore

(4) Barrack-pore
Inversion of temperature means

(1) Constant temperature with height
(2) Increase of temperature with height

(3) Fluctuating temperature with height
(4) Decrease of temperature with height

Which one of the following reservoirs is
associated with Rihand Project ?

(1) Jawahar Sagar

(2) Govind Ballabh Pant Sagar
(8) Govind Sagar

(4) Gandhi Sagar

Shipki La is the famous mountain pass of
(1) Sikkim

() Uttarakhand

(3) Himachal Pradesh

(4) Jammu and Kashmir



L 99, TIRE SN % e @) v -ang %
QI -T1Y T A1 =Y

(1) foreror gafias @

(2) foeor faftrn e

(3) T A A A

(4) favam & Igeval &

syt Rveror ¥ watfren Iqa) arraes G 3
(1) T FTE

(2) AERF

(3) SR

(4) FHAUST

i_ ‘el & dEs 9 5L
N (2) iy

(8) amerHife (4) =

focfe st Ry o o e e gt o 7
. R

(2) WETIGHT= L)

(3) HICITIN

(4) ITA

aTEe 3 ‘gared @M &1 o sramn o

(1) feeeh d (2) aEgC Hwd §
(3) Frreud (4) 3 A

17w <t TR g5 oft \
(1) 1875 ¢%.H. (2) 1870%.%.
(3) 1880%.H, (4) 18653%. .
7 1 4 9 w1 e Y wrfad T | 7

(1) FAeTHTRIe @i

(2) TSR Eeet

(3) wd@

(4) Tmyars faferd

T G 1 -8 W A STt |
gl e ?

(1) w1

(2) WWII

(3) w1V

(4) sl

100.

106.
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1)

Social studies teacher should ‘h"zive the :
knowledge of subject matter gs well .
(1) Teaching technology ; [
(2) Teaching methods e
(3) None of these

(4) Educational dbjéctives Ay %

The most useful teaching material for the
Geography is s o
(1) Flash Card

(2) Map

(3) Barometer

(4) Calendar

‘Ashtadhyayee’ was wntten by
(1) Shukadeva (2) Panini
(3) Valmiki (4) Vedavyas

The Second Buddhist Council was held

during the reign of
Shishunaga

(2) Mahapadmananda
(3) Kalashoka

(4) Udayabhadra

Akbar constructed ‘Ibadat-Khana’in
(1) Delhi (2) Fatehpur Sikri
(3) Sikandara (4) Agra

The Arya Samaj was founded in the year
(1)..1875 A.D. (2} 1870 AL,
(3) 1880 A.D. (4) 1865 A.D.

Who among the following was notassociated
with the Kakori case ?

(1) Ashfaqullah Khan

(2) Rajendra Lahiri

(3) Surya Sen

(4) Ramprasad Bismil

Which Part of the Indian Constitution deals
with Fundamental Rights ?

(1) PartIII

(2) Part I

(3) Part1V

(4) Partl

[ P.T:O.
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) T W ggE R v Pt i @ -
wieta | e foma mn ?

(1) 73 af geius

(2) 44 af @mum

(3) 86 al €MYA

4) 42 af gmym

IR =re 1 geEarer o

(1) g (2) @&

(3) M= (4) =pETh

SaE Frm g ufan fem e ada
Hiaum & ofeia forg et # i@ R 7

(1) wwadt g=h \

(2) wagEh
(3) <R fawy

|

(4) T i‘

Frfoafad § ¥ F9-u1 Py R fRRw iR d
iR ?

(1) 37F=aT 50

(2) TT=VT 49

(3) =R 51

(4) oTg=R% 48

foretd seuma s fea R
(1) g e i

(2) FREsH

(3) Afemd

(4) weiETg
Frefafad det # @ FR- srgard S &
IR S 7 ‘
(1) =

(2) TR

(3) IR

(4) w2

goe-an 1 4o i e vl B
(1) I-d & 3

(2) FEF

(3) aféqur-gd i 3iit

(4) T 1 3
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Which one of the following AL ;
of the Constitution of Inct[?f dﬁ{:ﬁ:xﬁr&cﬁf |
issue of strengthcning;.‘of'-the Panchaya
Raj ? il T

(1) 73" Amendment “mk Bk

(2) 44™Amendment

(3) 86" Amendment

(4) 42" Amendment

The office of International Court of Justic
is situated in '
(1) The Hague (2) London
(3) Paris (4) New York

Population control and family planning
is listed in which Schedule in the Indian
Constitution ? ;
(1) Concurrent list

(2) Union list

(3) Residual subjects

(4) State list

|
Which one of the following Directive i
Principles related to Foreign Policy ? : i
(1) Article 50 |
(2) Article 49 |
(3) Article 51 |
(4) Article 48 !

!

|

Bhilai steel plant is located in
(1) Madhya Pradesh

(2) Jharkhand

(8) Odisha

(4) Chhattisgarh

J

Which one of the following rocks is an
example of sedimentary rock ?
(1) Shale

(2) Marble
(8) Granite
(4) Slate

R e s e

e e

The tail of a comet always points é
(1) towards North-East “[
(2) away from the sun E
(3) towards South-East
(4) towards the sun
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Freafefan 3 @ 99 v @ wafg R?
(1) B

(2) faens mid
(3) umH

(@) wmaiy

Feaftiam 3 Q 9 swrefseer e T 7
(1) wh

(2) axtfsren

(3) e

(4) TR

ﬁﬂﬁmﬁ@%ﬁ—%ﬁ%mmwﬁu—mﬁq‘f
& SRS & T ot ) 7wl § weif
W R 7

(1) =i

(2) foa =1 wrpfes TRy

(3) ¥ Q&+

(4) Tova &1 oot Tmfty

e e i swea fafy 2
(1) =wer fafy

(2) amatery fafy

(3) ¥ A wE T

(4) oot fafy

IS 1 qwe o adeard e g
el

(1) SotareT & & g

(2) wgfugia

(3) eofifew wfai @

4) TEfEia

4 -3THR Al Tre) & Fmfor gar @
(1) v gr (2) T
(8) wriEmai g (4) g

st fern < v 2
(1) AeFa

(2) F=U

(3) T 4§ WS 7
(4) fasd
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Which one of the follow
with fault ?

(1) Hogback

(2) Strike valley

(3) Graben

(1) Anticlinorium

ing is associated

Which one of the
desert ?

(1) Gohi

(2) Arabia

(3) Kalahari

(4) Atacama

following is nata tropical -

Which one of thé‘ﬁ,“,foll‘p-v,ving ié-vfhe most
suitable teaching aid ta show proportionate
size and shape of continents ? .

(1) Globe ¢

(2) Physical map of the world
(3) None of these

(4) Political map of the world
The suitable method of geography
teaching is

(1) Story method

(2) Discussion method

(3) None of these

(4) Tour method

A universal language of the map can be
understood by way of

(1) Alphabets

(2) Conventional symbols

(3) Thematic maps

(4) Sketch

U-shaped valley is formed by

(1) Winds (2) River
(3) Sea waves (4) Glacier
The capital of Australia is

(1) Melbourne

(2) Canberra
(3) None of these
(4) Sydney

(P.T.O.
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TRt s ogERIs !

. - -
1 S T SFE-T
2] TRWF=TE
3) wawisd
- - ——:; E R o3
EEsE EE=T3
1] ¥ sas
2] =g
3] i saig
= I E Ik
1} F A EEmE
2} -‘-A—,".ﬁaf"'??ﬁ*‘.‘:;a*f::gr:}.:jﬁaﬁ
(3) FEEEEE
e EEaEm TSRt
(1) =g (2) FAT=T
- ity ' w . )
Z==0141 0 3 Za 9 =] Td T5a4] 941 541
(1} =7%(12) (2) @Z(13)
(3) i (9) (4) 3TEE (22)
(1j 30 37= (2) 29 mT=F
(3) 31 == (4) 25=#T=
TIEEEEAIE T TR R dmw AR

bty rrrr ey S - e 5 -
AR TR IER FR PRA A gEaq 2
(1} @R & (2) FAEER
(3) FHEF (4) THE

(1) faf (2) =i
(3) “raTEe (4) i

YA ) %A A3 5 HAIT A A Aty 7
(1) 15 (2) 12
(3) 22 (4) 9
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121. Who is the writer of ‘Rajpoot p

(1) W.G. Archer amh ?gh’
(2) Rai Krishna Das TR :
(3) None of these
(4) Ananda K. Coomaraswamyiﬂ ‘

Folk Art is associated with
(1} Modern Art

(2) Painting

(3) Pre-Historical Art

(4) Regional Art

ARSIl St & Ty AR

4

B 0 S e g o

Geometrical design is called
(1) Design made in square i
(2) Design made by geometrical forms
(3) None of these :
(4) Geometrical forms

Aipan is associated with which State ?

(1) Maharashtra (2) Madhya Pradeshf:
(3) Uttarakhand (4) Uttar Pradesh

How many total numbers of Shrutees are
there in Hindustani Sangeet ?

(1] 12 (2) 13

(3) 09 (4) 22

When “Sports Day” is celebrated ?

(1) 30 August (2} 29 August
(3) 31 August (4) 25 August

Who is the author of the most prominent
book on yoga “Yog Darshan” ?

(1) Maharshi Patanjali
(2) Maharshi Narad
(3) Maharshi Devdatt

(4)
‘Zein’ protein is related to which crop ?
(1) Maize (2) Soybean

(3) Oat (4) Paddy

Maharshi Bharat

Which breed of cow is dual purpose ?
(1) Sindhi
(3) Tharparkar

(2) Jersey

(4) Gir

India has divided in how many Agro
Clirnatic Zones ? Q)

(1) 15 1
(3) 22 (4 9

2




131,  FE T fopan smar
(1) Smaﬁiﬁri{ 2) TR
(3) FATAGIE  (4) i Q
182, WHE YR A e fore vt @t 3 7
(1) =&\ (24) (2) wshw (26)
(3) gy (28) (4) wa (22)
133. Al 1 et forg W1 Q wama wwan R ?
(1) Fadigar = (2) fRwhfar
(3) et @it 4) mifikw
134. ‘simie A Rew’ few femm s d ?
(1) 25 (2) 203
(3) 2894 (4) 2197 .
135. i 9 § 7iig & Soi% S I AR 7
(1) wft s 2) T T
(3) TN I (4) FHe=
136. g gt f Y o foreha e firama o
WA T ¢ ' »
(1) 9@ 2) T3
(3) =& (4) SRE !
137. <TCdTe 1SR e T & w R smere 7
(1) ¥ (2) T
(3) & (4) ¥\R
138. T A HA ‘qECn AGH TG @ !
(1) 93T
(2) i ga
(3) 3TemE S forehan
- (4) d. freH AR
130, wem ‘T @t e St g ?
(1) HreTshr (2) g=R
(@) (4) 8 feeel
Lao. s s e 1 7, A e 6 AT
W%V’a@ﬁwﬁaﬁm@aﬁm%?
(1) =&
(2) @t faasr
(3)
(4) g
141, i fae A EE BT |
(1) 19574 (2) 19554

(3) 19604 (4) 19527
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(1) Typhoid -

(3) 28" June

Saffron is obtained from
(1) Flower stigma (2) Leaf

(3) Calyx @) Bud

How many tibs are there m humanbody -0 i
(1) 24 (o) 26 R

(3) 28 L)y 22

Which disease

: ,ié‘pr‘eVer'ited byTAB s il
vaccine ? S e

" (2) Diphtheria |

(4 ~Tub¢rculosis

(3) Pertussis

On which day in ‘International Yoga Day’

celebrated ? Pt T P Sk

(1) 25" June (2)° 20" June
(4) 21% June

In which clothes are resihfvstarch used ?

(1) Silken clothes (2) Cotton clothes
(3) Nylon clothes (4) 'Woolen clothes

How many Shuddh and Vikrit swaraas in
total are there in Hindustani Sangeet ?
(1) o7 (2) 08
(3) 11 4) 12

With which Gayaki Char Taal is used ?
(1) Dhrupad (2) Taraana
(3) Khyal (4) Dhamar

Amongst these who is nota ‘“Tabla Player’ ?
(1) Ram Das Sharma

(2) Zakir Husain

(8) Ahmed Jan Thirakwa

(4) Pt. Kishan Maharaj

Where was first “National Games” Organised ?

(1) Kolkata (2) Mumbai
(3) Chennai (4) New Delhi

“Today India does not need Geeta but needs
a football ground.” This thought was given
by which Thinker ?

(1) Pluto

(2) Swami Vivekanand
(3) Rousseau

(4) Radhakrishnan

Community Development Programme was
started in the year
(1) 1957
(3) 1960

1955
1952

()
()

eXide
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| e i T = 3w & g o

a1 g fean
(1) v & A A
(2) @ fire % el |
(3) Frare Rt & A °
(4) ﬁmﬂqqmé?mwéﬁ
s wfu % g I1geae % S=d TeauTe
e Fadrre @) aRea < wlisrfa & o gafia
TEs i wifdd WA ?
(2) =R 108

(1) F=8< 200
(3) 1T 213 (4) ITTeRT 52

I o I &1 fratem fatess nvea g
foran <t R, forwes ge=m g @

(1) U< s SFl Tedl = affad aee

(2) TES S I el o At wew

(3) T=g T & Faffud ged

4) TSI T & ot gew

HI-T1 < T8 T Tew TE 7

(1) wemewn (2) u
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HZw e fidafr ®

(1) wHTivr st (2) amary i
(3) it e (4) S e
s STl Td gy den e e R
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(8) @ETs (4) FewEmE
TS S % fore wartferes Sogea et @
(1) A2 (2) S

(8) =« (4) e
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e Court of India enunciated
’trlrlli: glcjg:lirr?e of Basic structure of the
Constitution in India i
(1) Golakh Nath case
(2) Sajjan Singh case :
(3) Keshwanand Bharti case
(4) Shankari Prasad case

Under which Article of the Indian Constitution
the Governor has the power to reserve a bm
for the President’s assent ?

(1) Article 200 (2) Article 108
(3) Article 213 (4) Article 52

The Vice President of India is elected by the -

members of an electoral college consisting of

(1)
(2)
(3)
(4)

Parliament
All members of both Houses of
Parliament

Elected members of the Council of
States

All members of the Council of States

Which country is not the member of SAARC ?
(1) Bangladesh (2) Nepal
(3) Japan (4) Bhutan

Progeny of nucleus seed is

(1) Certified seed (2) Foundation seed
(3) Registered seed (4) Breeder seed

Central Institute of M
Plant is situated at
(1) Bhopal

(3) Lucknow

The most suitab

edicinal and Aromatic

(2) New Delhi
(4) Hyderabad

le fruit for marmalade

making is
1{ Malta (2) Jamun
}3 Bael Banana

Cen'tral Food Technolo
Institute is situated at
1) Karnataka (2)

None of these (4)

gical Research

Maharashtra
New Delhi

Which preservative is used in Jell

y making ?
(1) Sulphite (2) Pectin
(3) Sulphur dioxide (4) Sugar
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